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Q1) a) Read the following passage and answer the questions.      

  In the afternoon of the first day I should take a long walk in the woods. I would 

try desperately to absorb in few hours the vast splendor which is constantly 

unfolding for those who can see. On the way home I would stop at the farm so 

that I might see the horses plowing in the field. 

  i) The passage is found in the lesson _____. 

  ii) Who is the speaker? 

  iii) What is the speaker describing? 

  iv) What does the speaker mean by, “those who can see”? 

  v) What is meant by “Splendor”? 

 b) Read the following paragraph and answer the questions by choosing the right 

answer.                                                                                                            

  To be a successful writer, you must write interestingly, but different kinds of 

people have different interests, and it is most unlikely that you will be able to 
appeal to all of them. You therefore have to know exactly what type of reader you 

are writing for and exactly what kind of things interest such a reader. 
  i) To be a successful writer, one must be : 

   1) Careful 
   2) Personal  

   3) Interesting 
   4) Lengthy works 

  ii) People have 

   1) Same reactions 

   2) Disinterest 

   3) No interest 

   4) Different interests  

  iii) ‘Unlikely’ means  

   1) Show liking  

   2) To hate 

   3) Remotely possible 

   4) Not possible 

  iv) Write the synonym of ‘success’ 

   1) Failure 

   2) Win 
   3) The best 

   4) Happy 



 

  v) The antonym of ‘different’  

   1) change 

   2) various 

   3) many  
   4) similar 
 

Q2) Answer the following in not more than 100 words each.    

 a) Summarize Gandhi’s experiences as a student in London. 

 b) What is the moral of the play ‘The Drunkard’? 

 c) Comment on L.A. Hill’s views on freedom. 

 d) Trace the importance of knowledge as a source of prosperity from the distant past 

to the present. 
 

Q3) Answer   in about 200 words. 

                                                                                      

 a) Write a note on the personality of Helen keller as revealed in ‘Three Days to 

See”.  

 b) Justify the title of the essay “Man’s Peril”. 

 c) According to Barnum, what kind of people can attain “pecuniary independence”? 
 

Q4) a) Answer   in about 100 words.                                                                       

  i) Write an appreciation of the poem, “Ode to a Nightingale”. 

  ii) Bring out the central idea of the poem “Mending Wall”. 
  iii) Consider “The Last Ride Together” as a dramatic monologue and explain.  

 b) Explain the following :-                                                                             

  i) “If winter comes, can spring be far behind?” 

  ii) Was it a vision or a waking dream? 

  iii) I cannot rest from travel : I will drink life to the less. 

 

Q5) Answer the following in about 200 words.                                                     

 a) Describe the London city as you find it in William Blakes Poem, London. 

 b) What is P.B. Shelley’s prayer to the west wind? 

 c) Bring out the patriotic feelings in the poem, “The Gift of India”. 

 

  

Q6) Answer   in about 200 words.   

 a) Sketch the character of subha.  

 b) How did luck favour an absolute fool like Scoresby? 

 c) Bring out the pathos of the story the’ penny. 
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Q1) Read the following passage and summarize it.   

 The sea turtles, especially the leatherbacks, are undoubtedly one of the most amazing 

creatures, They roam the warm seas of the world throughout their life and come ashore 

only to lay eggs. Malaysia with it’s long sandy shore lines has been destined as one of 

their breeding grounds. Unfortunately, the number of leather back turtles landing on the 

beaches has been declining over the years. The belief that the declining landings of 

turtles in Malaysia is the result of increasing landings in other parts of the world is a 

fallacy. This is because the scenario is the same in other countries known to have been 

visited by the turtles. What has caused the species to dwindle at such a rapid rate? 

There are many reasons but an obvious one is none other than man’s greed. As we 

know, turtles are killed for their meat. Turtle soup is a favourite dish among the Asains. 

Their shells have become coveted item for jewellery and decorations. Their eggs which 

are meant to be hatched into young turtles, are instead harvested and eaten. Pollution of 

the sea has also reduced the number of turtles. Many are choked to death by plastic 

bags and mistaken for jelly fish. Sincere efforts are being taken to check the decline. In 

Malaysia, it is heartening to note that concrete steps have been taken to protect the 

turtles that come ashore to lay eggs. The indiscriminate collection of turtle eggs on the 

beach is no more allowed. Turtle sanctuaries have been set up. Let us hope that it is not 

too late to save these fascinating creatures from becoming extinct. 

  

Q2) Write an essay on the following :                                                                        

 a) Ethics in workplace 

 b) Usage of plastic, its impact on the environment 

 c) The role of newspapers 

 

 

 



Q3) Answer   the following  

 a) Write a report about potholes on the streets, in your locality.  

 b) Give a report about the recent floods in Kerala. 
 

 
 

Q4) Use   the following idioms and phrases in sentences of your own.               

 a) Face the music   

 b) Black sheep  

 c) Give up 

 d) Achiles heel  

 e) Piece of cake 

 f) Blessing in disguise 

 g) Call off  
 h) Look after  

 
Q5)Answer the following .    

 a) Write a dialogue between two friends who are discussing their results of an exam. 

 b) Write a letter to your grand  mother asking about her health. 

 c) Write a letter to the editor of a news paper about the problem of mosquitoes in 

your area, and the health risks. 
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Q1) “Mìü…¨ Ðé°Mìü {ç³†ç³§éÆæÿ® ™é™èþµÆ>ÅË$ {ÐéÄ¶ý$…yìþ.                                   

 a) Ððþ*§æþÐ@þ¬ ™øyæþ O§ðþ™èþÅ Mæü$ËÐ@þ¬Q$Åyæþ$ ÆæÿÐ@þ$Ã° `Ææÿ— º…^ðþ {º 
  àÏ§æþ Mæü$Ð@þ*ÆæÿMæü$¯Œþ ¿¶ýÐ@þ Ð@þ$àÆæÿ~Ð@þ ™éÆæÿMæü$— V>Ð@þ$ ÆøçÙ ÌZ 
  ¿ê¨ ÑÆø«̈  Ð@þÆæÿY ç³ÇàÆæÿMæü$— VóüÔ¶ýÐ@þ _…™èþ¯éÐ@þ$–™é 
  ÝëÓ§æþ MæüuøÆæÿMæü$ Œ̄þ VæüË$çÙgêË Ð@þ$à“Væü Ð@þ± Mæü$u>ÆæÿMæü$ÆŠÿ. 

 b) A @̄þ Ñ° {Ðóþr$ Ð@þyæþz Ä¶ý¬Ææÿ V>…VæüÄ¶ý¬… ºÌñý¯øÆÿ¬ ÐøÄ¶ý$ ¿¶ý 
  VæüȲ @þ §æþÇVö @̄þ² ÁçÙ×ý çßý$™éÔ¶ý @̄þ MîüË Ä¶ý$ @̄þ…Væü Ìôý_, òßý 
  _a @̄þ Mæü @̄þ$§øÆÿ¬ Mðü…ç³# ™èþ @̄þ ð̂þMæü$PË— Væü$…Mæü$Ð@þ$ ç³{™èþ ¿¶ý…Væü @̄þ… 
  f°™èþ @̄þÒ @̄þ M>…† Ððþ§æþ è̂þËÏ—Væü Væü§æþY§æþ S @̄þ² Mæü…vOÄñý$. 

Q2) “Mìü…¨ Ðé°Mìü çÜ…§æþÆæÿÂ çÜíßý™èþ ÐéÅQÅË$ {ÐéÄ¶ý$…yìþ. 
                        A & ¿êVæü…                                   

 a) f @̄þMæü$ËMæü$… VæüÆæÿ~ Ä¶ý¬Væüâ¶ý çÜ§æþ*ÂçÙ×ý Ð@þ¬ÌŒý 
 b) Ð@þ*¯@þ Ææÿíßý™èþ OÐðþ$ @̄þ {º§æþ$Mæü$ Ð@þ*°°MóüÌê? 

 c) D Væü$×ý… »ôýË? ±Mæü$? 
 d) HÑ$ Ñ°Äñý$ §æþÐ@þ$ÃÆöÆÿ¬…Mæü Œ̄þ 

                      B & ¿êVæü…                                  

a) H º$§æþª §óþÐ@þ#yìþ f @̄þÃ ¿¶ý*Ñ$Mìü VæüÆæÿÓçÜÃ –† 

 b) í³Ë$Ð@þ#…yæþ$ Ô¶ýÆÿ¬…_ @̄þ ÐéÇ ð̄þËÏÆæÿ Œ̄þ 
 c) Ð@þ$sìýtÌZ OòÜ™èþÐ@þ¬Ã MæüÆæÿ*µÆæÿ ÝûÆæÿ¿¶ýÐ@þ¬ÃË$ Ò^èþ$. 
 d) ¯é {º™èþ$MöMæü çÜ$ @̄þ² M>± @̄þyæþ$çÜ$¢̄ é² 
Q3) “Mìü…¨ Ðé°Mìü çÜÐ@þ*«§é¯@þ… {ÐéÄ¶ý$…yìþ.                          

                          A & ¿êVæü…  

 a) íßýÆæÿ×ýÅMæüÕç³#yæþ$ & {ç³àÏ§æþ$° Ñ§éÅ ÐéÅçÜ…VæüÐ@þ¬ @̄þ$ ç³È„ìü…_ @̄þ Ñ«§æþÐ@þ¬¯@þ$ ÑÐ@þÇ… è̂þ…yìþ. 
 b) } Mæü–çÙ$~yæþ$ çÜ™èþÅ¿êÐ@þ$ @̄þ$ K§éÇa @̄þ ¡Ææÿ$ @̄þ$ ÑÐ@þÇ… è̂þ…yìþ. 
                                            B & ¿êVæü… 

 c) Ð@þ$à…{«§ø§æþÄ¶ý*°² §éÔ¶ýÆæÿ«̈  Ææÿ_…_ @̄þ È†° ÑÐ@þÇ…^èþ…yìþ. 
 d) ËMæü$Ð@þ$ÌZ ÝëW @̄þ A…™èþÆæÿÃ£æþ¯é°² ÑÐ@þÇ…^èþ…yìþ. 
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Q1) “Mìü…¨ Ðé°Mìü çÜÐ@þ*«§é¯@þ… {ÐéÄ¶ý$…yìþ. 
                                     A & ¿êVæü…                                      

 a) f…çœ*Ë Ô>ïÜˆ Ð@þÇ~…_ @̄þ ™ðþË$Væü$ ¿êÚë Ýû…§æþÆæÿÅ… Væü*Ça {ÐéÄ¶ý¬Ð@þ¬. 
 b) Æ>Ä¶ý$Ë M>ËÐ@þ¬ ¯ésìý {ç³fË ¿ZVæü ÑÐ@þ¬Q™èþ¯@þ$ ™ðþËµ…yìþ? 
                                     B & ¿êVæü…  

 a) “ºçßý$M>Ë §æþÆæÿØ @̄þ…” B«§éÆæÿ…V> Mæü–çÙ~Ô>íÜˆ V>Ç Ð@þ^èþ¯@þ Ææÿ^èþ¯é çÜ…Ñ«§é¯é°² ÑÐ@þÇ… è̂þ…yìþ. 
 b) AËÏÝë° ò³§æþª̄ @þ iÑ™èþ ÑÔóýÚëË$ & Ð@þÅMìü¢™èþÓ… Væü*Ça {ÐéÄ¶ý$…yìþ. 

 

Q2) “Mìü…¨ Ðé°Mìü çÜÐ@þ*«§é¯éË$ {ÐéÄ¶ý$…yìþ.                                                        

 a) M>ã…¨ 
 b) çÜ$¿¶ý{§æþ 
 c) ºçÜÐ@þÆ>k 

 b) íÜ…VæüÆ>k 

Q3) “Mìü…¨ Ðé°Mìü  ÐéÅçÜ… {ÐéÄ¶ý$…yìþ.                                                                    

 a) AÑ±† °Ææÿ*ÃË @̄þ… 

 b) ËÍ™èþMæüâ¶ýË$ & MæüÑ™èþÓ… 

 c) ó̄þsìý Ä¶ý¬Ð@þ™èþÆæÿ…ÌZ AÔ>…†. 
Q4) a) I. “Mìü…¨ ç³§æþÅ ´ë§é°Mìü Væü×ý Ñ¿¶ýf @̄þ ^óþíÜ, bèþ…§æþçÜ$Þ @̄þ$ Væü$Ç¢…_ Ä¶ý$†° õ³ÆöP @̄þ…yìþ.  
   §éÄ¶ý$Ë OMðü @̄þ °sìýtÐðþ™èþ §éÆöP @̄þ ó̄þVæü†— lyæþ Ð@þ^èþ$a°         

                               
  II. “Mìü…¨ Ðé°Mìü Ýù§éçßýÆæÿ×ý…V> Ë„æü×ê°² ™ðþËµ…yìþ.   

   i) Mæü…§æþ… 

   ii) ^èþ…ç³MæüÐ@þ*Ë 

 b) I. “Mìü…¨ ç³§æþÅ…ÌZ AË…M>Æ>°² ™ðþÍµ, Ë„æü×ý… ™ðþÍµ çÜÐ@þ$¯@þÓÆÿ¬… è̂þ…yìþ   

     

   “òßý_a @̄þ ÔZMæü §æþÐé¯@þË…º$^óþ”                                 

  II. “Mìü…¨ AË…M>Æ>ËMìü Ýù§éçßýÆæÿ×ý…V> Ë„æü×ý… ™ðþËµ…yìþ. 
   i) ÔóýÏçÙ 
   ii) Eç³Ð@þ$ 
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Q1) Functions of commercial banks. 

 Ðé×ìýfÅ »êÅ…Mæü$Ë Ñ«§æþ$Ë$ 
Q2) Electronic Banking 

 GË[M>t°MŠü »êÅ…Mìü…VŠü 
Q3) Non - banking institutions 

 ¯é Œ̄þ »êÅ…Mìü…VŠü çÜ…çÜ¦Ë$ 
Q4) SFCs 

 SFCË$ 

Q5) Merchant Banking 

 Ð@þ$Ææÿa…sŒý »êÅ…Mìü…VŠü 

Q6) KYC Norms 

 KYC °º…«§æþ @̄þË$ 

Q7) Bank lien 

 »êÅ…Mæü$ Î Œ̄þ 
Q8) Dormat Accounts 

 °{íÙPÄ¶ý$ Rê™éË$ 
Q9) Explain the merits and demerits of Branch Banking? 

 {»ê…^Œþ »êÅ…Mìü…VŠü Væü$×ý§øÚëË @̄þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 
 
Q10) What are the types of negotiable Instruments and Their features? 

 A¯éÅ“M>…™èþ ç³{™éË ÆæÿM>Ë$ Ð@þ$ÇÄ¶ý¬ Ðésìý Ë„æü×êË @̄þ$ ÑÐ@þÇ…ç³#Ð@þ¬? 
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Q1) Explain the duties and responsibilities of a paying banker. 

 ^ðþÍÏ…ç³# »êÅ…MæüÆæÿ$ Äñý¬MæüP Ñ«§æþ$Ë$ Ð@þ$ÇÄ¶ý¬ »ê«§æþÅ™èþË @̄þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 
Q2) Explain the structure of co - operative banking institutions, Also state their contribution. 

 çÜçßýM>Ææÿ »êÅ…Mæü$Ë çÜÓÆæÿ*ç³… @̄þ$ ÑÐ@þÇ…_, Ðésìý Äñý¬MæüP ´ë{™èþ @̄þ$ ™ðþËç³…yìþ. 
 

 

Q3) Outline the innovations taken place in Banking in the recent past. 

 »êÅ…Mìü…VŠüÌZ CsîýÐ@þË M>Ë…ÌZ ^ør$ ^óþçÜ$Mæü$ @̄þ² @̄þ*™èþ @̄þ ´ùMæüyæþË$ Væü$Ç…_ ™ðþË$ç³#Ð@þ¬. 

Q4) Describe the features of special relationship between Banker and Customer. 

 »êÅ…MæüÆæÿ$ Ð@þ$ÇÄ¶ý¬ Rê™é§éÆæÿ$ Ð@þ$«§æþÅVæüË {ç³™óþÅMæü çÜ…º…«§æþÐ@þ¬ Äñý¬MæüP Ë„æü×êË @̄þ$ ÑÐ@þÇ…^èþ…yìþ. 

Q5) Trace out the origin of RRB? Also state its functions. 

 {´ë…¡Ä¶ý$ “V>Ò$×ý »êÅ…Mæü$Ë ç³#r$tMæü Ð@þ$ÇÄ¶ý¬ §é° Ñ«§æþ$Ë @̄þ$ ™ðþË$ç³#Ð@þ¬. 

Q6) What do you mean by money market? Also explain the structure and role of money 

market in Economy. 

 {§æþÐ@þÅ Ð@þ*ÆðÿPsŒý A @̄þV> ó̄þÑ$? A§óþÑ«§æþ…V> §é° çÜÓÆæÿ*ç³… Ð@þ$ÇÄ¶ý¬ BÇ¦MæüÐ@þÅÐ@þçÜ¦ÌZ §é° ´ë{™èþ @̄þ$ ÑÐ@þÇ…ç³#Ð@þ¬? 

Q7) Write a note on  

 a) Pledge 

 b) hypothecation 

 c) Mortgage and  

 As a banker what are the precautions to be taken while advancing loans against goods. 

 “Mìü…¨ Ðésìý° ÑÐ@þÇ…^èþ…yìþ. 
 a) Mæü$§æþ$Ð@þ 
 b) Oòßý´ù¤MóüçÙ Œ̄þ 
 c) ™èþ @̄þRê Ð@þ$ÇÄ¶ý¬ JMæü »êÅ…MæüÆæÿ$V> çÜÆæÿ$Mæü$Ë Oò³ º¬×ý… C^óþarç³šyæþ$ ¡çÜ$Mæü$ ó̄þ Ð@þ¬…§æþ$ gê“Væü™èþ¢Ë$ HÑ? 

 

Q8) What is Life insurance? Explain about various Life insurance policies? 

 iÑ™èþ ÁÐ@þ* A @̄þV> ó̄þÑ$? iÑ™èþ ÁÐ@þ* ´ëËïÜË Væü*Ça ÑÐ@þÇ… è̂þ…yìþ. 
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Q1) Instalment system 

 ÐéÆÿ¬§é ç³§æþ®† 

 
Q2) Repossession of goods 

 çÜÆæÿ$Mæü$ ÝëÓ«© @̄þ™èþ 
 
Q3) Legacy and Donations 

 ÐéÆæÿçÜ™éÓË$ Ð@þ$ÇÄ¶ý¬ ÑÆ>âêË$ 

 
Q4) Difference between Single Entry System and Double Entry System. 

 J…sìý ç³§æþ$ª Ñ«§é @̄þÐ@þ¬ Ð@þ$ÇÄ¶ý¬ f…r ç³§æþ$ª Ñ«§é¯é°Mìü Ð@þ$«§æþÅ ™óþyéË$. 
Q5) Types of shares  

 ÐésêË ÆæÿM>Ë$ 

 
Q6) Revalution account 

 ç³# @̄þÆæÿ*ÃËÅ…Mæü @̄þ Rê™é 

 
Q7) Advantages of departmental account 

 Ñ¿êVæü Rê™éË {ç³Äñý*f¯éË$ 

 
Q8) Contents in partnership deed 

 ¿êVæüÝëÓÐ@þ$Å Jç³µ…§æþ…ÌZ° A…Ô¶ýÐ@þ¬Ë$ 
 

Q9) Karthik purchased machinery under hire purchase agreement from prasad. The cash price 

of the machinery was Rs. 31,000, payment for the purchase is to be made as under. 

  On signing the agreement Rs. 6,000 

  First year, second year, third year Rs. 10,000 each. 

 Make necessary accounts in the books of Karthik, charging depreciation at 10% on 

diminishing balance method.  

 M>È¢MŠü JMæü Ä¶ý$…{™é°² {ç³Ýë§Šþ ¯@þ$…yìþ A§ðþªMö @̄þ$VøË$ Jç³µ…§æþ… Oò³ Mö @̄þ$VøË$ ^óþòÜ @̄þ$. Ä¶ý$…{™èþÐ@þ¬ @̄þVæü§æþ$ «§æþÆæÿ 
Ææÿ*|| 31,000 Mö @̄þ$VøË$ Oò³ ^ðþÍÏ…ç³#Ë$ “Mìü…¨ Ñ«§æþ…V> E @̄þ²Ñ. 



 Jç³µ…§æþÐ@þ¬ Oò³ çÜ…™èþMæü… ^óþíÜ @̄þç³#yæþ$ Ææÿ*|| 6,000 Ððþ¬§æþsìý, Æðÿ…yæþÐ@þ, Ð@þÊyæþÐ@þ çÜ…Ð@þ™èþÞÆ>…™èþ @̄þ Ææÿ*|| 10,000 
^öç³š @̄þ M>È¢MŠü ç³#çÜ¢M>ËÌZ AÐ@þçÜÆæÿOÐðþ$ @̄þ Rê™éË$ ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ. ™èþÆæÿ$Væü$§æþË 10% ^öç³š @̄þ ™èþVæü$Y™èþ$ @̄þ² 
°ËÓË ç³§æþ®† Oò³ Ææÿ§æþ$ª ^óþÄ¶ý$…yìþ.  

 

Q10) Hari Keeps his books on a single entry system. From the following prepare “Statement of 

affairs” and find out profit or loss for the year ending 31 - 12 - 2015. 

  Particulars 31/12/14 31/12/15 

  Fixed Assets 50,000 75,000 

  Current Assets 15,000 28,000 

  Current Liabilities 35,000 20,000 

 Additional Information : 

 a) Additional capital Introduced during the year was 15,000 

 b) Personal drawings from the business were Rs. 3,500. 

 c) Depreciate 12% on fixed assets. 

 d) 5% discount reserve on current liabilities.   

 çßýÇ ™èþ @̄þ Rê™é ç³#çÜ¢M>Ë @̄þ$ J…sìý ç³§æþ$ª Ñ«§é @̄þ…ÌZ {ÐéÄ¶ý¬^èþ$¯é²yæþ$. “Mìü…¨ çÜÐ@þ*^éÆæÿ… B«§éÆæÿ…V>, 
Ð@þÅÐ@þàÆ>Ë °Ðóþ¨Mæü Ð@þ$ÇÄ¶ý¬                    31-&12&2015 ™ø A…™èþÐ@þ$Äôý$Å çÜ…Ð@þ™èþÞÆ>°Mìü Ìê¿¶ý @̄þÚëtË$ 
Mæü @̄þ$MøP…yìþ. 

  ÑÐ@þÆ>Ë$ 31&12&14 31&12&15 
  íÜ¦Ææÿ BçÜ$¢Ë$  50,000 75,000 
  ^èþÆæÿ BçÜ$¢Ë$  15,000 28,000 
  ^èþÆæÿ Aç³šË$ 35,000 20,000 
 A§æþ @̄þç³# çÜÐ@þ*^éÆæÿ… : 
 a) çÜ…Ð@þ™èþÞÆæÿ M>Ë…ÌZ çÜÐ@þ$Mæü*Ça @̄þ A§æþ @̄þç³# Ð@þÊË«§æþ¯@þ… Ææÿ*|| 15,000. 
 b) B M>Ë…ÌZ ¡çÜ$Mæü$ @̄þ² Ý÷…™èþÐéyæþM>Ë$ Ææÿ*|| 3,500.  
 c) íÜ¦Ææÿ BçÜ$¢Ë Oò³ 12% ™èþÆæÿ$Væü$§æþË 
 d) ^èþÆæÿ Aç³šË Oò³ 5% yìþÝûP…sŒý ÇfÆæÿ$Ó HÆ>µr$ ó̂þÄ¶ý$…yìþ. 

   
  



DBC22 
ASSIGNMENT-2 

B.Com. (General & Computer Applications) DEGREE EXAMINATION, JUNE/JULY - 2020 

Second Year 

Financial Accounting - II (Part - II) 

MAXIMUM MARKS: 30  

Answer ALL Questions 

 

Q1) From the following financial information prepare receipts and payments account for the 

year ending 31/3/2017. 

 Cash balance on 1 - 4 - 2016 Rs. 15,500 

 Subscription   Rs. 13,800 

 Legacies  Rs. 12,000 

 Fees received   Rs. 8,500 

 Entrance fee  Rs. 7,400 

 Donations   Rs. 11,500 

 Life membership fees  Rs. 14,000 

 Paid for postage  Rs. 1,800 

 Books purchased   Rs. 4,200 

 Furniture   Rs. 10,500 

 Computer   Rs. 18,000 

 Salaries   Rs. 12,300 

 31-&3&2017 ™óþ¨™ø A…™èþÐ@þ$Äôý$Å çÜ…Ð@þ™èþÞÆ>°Mìü ¨Væü$Ð@þ C_a @̄þ Ð@þÅÐ@þàÆ>Ë @̄þ$…yìþ Ð@þçÜ*Ë$ ^ðþÍÏ…ç³#Ë 
Rê™é @̄þ$ ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ.  

 1-&4&2016 ™óþ¨ @̄þ E @̄þ² @̄þVæü§æþ$ °ËÓ  Ææÿ*|| 15,500 

 ^èþ…§éË$   Ææÿ*|| 13,800 

 ÐéÆæÿçÜ™éÓË$   Ææÿ*|| 12,000 

 ïœk Ð@þçÜ*Ë$  Ææÿ*|| 8,500 
 {ç³ÐóþÔ¶ý Ææÿ$çÜ$Ð@þ¬  Ææÿ*|| 7,400 

 ÑÆ>âêË$   Ææÿ*|| 11,500 

 iÑ™èþ çÜ¿¶ý$ÅË ^èþ…§é Ææÿ*|| 14,000 
 ´ùõÜth ^ðþÍÏ…ç³# Ææÿ*|| 1,800 

 ç³#çÜ¢M>Ë Mö @̄þ$VøË$  Ææÿ*|| 4,200 

 çœÈ² è̂þÆæÿ$   Ææÿ*|| 10,500 

 Mæü…çç³NÅrÆæÿ$  Ææÿ*|| 18,000 
 i™éË$    Ææÿ*|| 12,300 



Q2) PQR Ltd. Issued 1,000 10% debentures at Rs. 100 each pass necessary journal entries in 

the following cases. 

 a) Debentures issued at Rs. 95 repayable of Rs. 100 each. 

 b) Debentures issued at Rs. 95 repayable of Rs. 105 each. 

 c) Debentures issued at Rs. 100 repayable of Rs. 105 each. 

 d) Debentures issued at Rs. 105 repayable of Rs. 100 each.  

 

 PQR Ltd. 1000, 10% yìþ»ñý… ð̂þÆæÿ$Ï JMöPMæüPsìý Ææÿ*|| 100 ^öç³š @̄þ gêÈ ^óþÄ¶ý$ºyìþ @̄þ¨.  D “Mìü…¨ çÜ…§æþÆ>ÂËÌZ 
_sêt ç³§æþ$ªË$ {ÐéÄ¶ý$…yìþ. 

 a) Ææÿ*|| 100 Mæü$ ÑÐðþ*^èþ @̄þ… ^óþõÜ HÆ>µr$ Ð@þ§æþª yìþ»ñý…^èþÆæÿ$ 95 Mæü$ gêÈ. 

 b) Ææÿ*|| 105 Mæü$ ÑÐðþ*^èþ @̄þ… ^óþõÜ HÆ>µr$ Ð@þ§æþª yìþ»ñý…^èþÆæÿ$ Ææÿ*|| 95 Mæü$ gêÈ. 

 c) Ææÿ*|| 105 Mæü$ ÑÐðþ*^èþ @̄þ… ^óþõÜ HÆ>µr$ Ð@þ§æþª yìþ»ñý…^èþÆæÿ$Mæü$ Ææÿ* 100 Mæü$ gêÈ 

 d) Ææÿ*|| 100 Mæü$ ÑÐðþ*^èþ @̄þ… ^óþõÜ HÆ>µr$ Ð@þ§æþª yìþ»ñý…^èþÆæÿ$Mæü$ Ææÿ*|| 105 Mæü$ gêÈ.  
Q3) Karthik and prasad are partners in a business         sharing profit and losses in the ratio of 

2 : 1. their balance sheet was as follows : 

 Liabilities  Rs. Assets  Rs. 

 Bills Payable 80,000 Bank 1,00,000 

 General Reserve 30,000 Sundry Debtors  35,000 

 Karthik Capital  1,10,000 Closing stock  20,000 

 Prasad capital  70,000 Machinery  1,10,000 

    Bills receivable  25,000 

   2,90,000  2,90,000 

  They agreed to admit Aruna into the partnership firm. Subject to the following terms.  

 a) Aruna has to pay as capital Rs. 60,000 for  rd share in future profits. 

 b) Aruna has to pay Rs. 18,000 for goodwill. 

 c) Depreciate machinery at 10% per annum. 

 d) Closing stock revalued at 35,000, prepare      necessary accounts after Aruna’s 

admission. 

  

  



M>È¢MŠü Ð@þ$ÇÄ¶ý¬ {ç³Ýë§Šþ JMæü ¿êVæüÝëÓÐ@þ$Å…ÌZ 2 : 1 °çÙµ†¢ÌZ Ìê¿¶ý @̄þÚëtË$ ç³…^èþ$Mæü$ ó̄þ ¿êVæüçÜ$¢Ë$. ÐéÇ BíÜ¢ Aç³šË ç³sîýt 
“Mìü…¨ Ñ«§æþ…V> MæüË§æþ$. 

 Aç³šË$  Ææÿ*||  BçÜ$¢Ë$   Ææÿ*|| 

 ^ðþÍÏ…ç³# çßý$…yîþË$ 80,000 »êÅ…Mæü$  1,00,000 

 Ýë«§éÆæÿ×ý ÇfÆæÿ$Ó  30,000 ÑÑ«§æþ º¬×ý“VæüçÜ$¢Ë$  35,000 

 M>È¢MŠü Ð@þÊË«§æþ @̄þ… 1, 10,000 Ð@þ¬W…ç³# çÜÆæÿ$Mæü$  20,000 

 {ç³Ýë§Šþ Ð@þÊË«§æþ @̄þ… 70,000 Ä¶ý$…{™éË$  1,10,000 

    Ð@þçÜ*Ë$ çßý$…yîþË$  25,000 

   2,90,000  2,90,000 

  ÐéÆæÿ$ “Mìü…¨ çÙÆæÿ™èþ$ËMæü$ ÌZºyìþ AÆæÿ$×ý @̄þ$ “Mö™èþ¢ ¿êVæüçÜ$¢°V> ^óþÆæÿ$aMø§æþË^ðþ @̄þ$. 

  a) AÆæÿ$×ý  Ð@þ Ð@þ…™èþ$ Ìê¿¶ý @̄þÚëtË ÐésêMæü$ Ææÿ*|| 60,000 Ð@þÊË«§æþ @̄þ… MøçÜ… çÜÐ@þ$Mæü*ÆæÿaÐ@þÌñý @̄þ$. 

  b) Væü$yŠþ ÑÌŒý MøçÜ… AÆæÿ$×ý Ææÿ*|| 18,000 çÜÐ@þ$Mæü*ÆæÿaÐ@þÌñý @̄þ$. 

  c) Ä¶ý$…{™èþ… Oò³ 10% ™èþÆæÿ$Væü$§æþË MæüË§æþ$. 

  d) Ð@þ¬W…ç³# çÜÆæÿ$Mæü$ ç³#¯@þÆæÿ*ÃËÅ…Mæü @̄þ ÑË$Ð@þ Ææÿ*|| 35,000 Ë$V> °Ææÿ~Æÿ¬…^éÆæÿ$. 

  AÐ@þçÜÆæÿOÐðþ$ @̄þ Rê™éË$ AÆæÿ$×ý {ç³ÐóþÔ¶ý… ™èþÆæÿ$Ðé™èþ H Ñ«§æþ…V> E…sêÄñý* è̂þ*yæþ…yìþ. 
Q4) Prepare Income and Expenditure a/c and the balance sheet from the following receipts 

and payments a/c for year ending 31 - 12 - 17. 

    Dr.     Cr. 

 Receipts Rs. Payments  Rs. 

 1-1-2017  31-12-2017 

 To bank a/c 15,300 By salaries 11,000 

 31-12-2017  By stationery  2,700 

 To Subscriptions  12,500 By Repairs  3,200 

 To Donations  7,900 By office Expenses  4,100 

 To Lockers rent  3,800 By machinery  14,000 

 To sale of old furniture  6,200 By Investments  8,000 

 To Legacies  10,000 By Balance c/d 17,000 

 To Entrance fees 4,300 

   60,000  60,000 

  Adjustments :  

  a) Subscription outstanding for 2017 Rs. 1,500 and received in advance Rs. 800. 

  b) Outstanding salaries Rs. 3,000 



  c) Depreciation on machinery was Rs. 1,000  

  d) Interest due on Investments was Rs. 500. 

 ¨Væü$Ð@þ C_a @̄þ Ð@þçÜ*â¶ý$å ^ðþÍÏ…ç³#Ë$ Rê™é 31 & 12 & 2017 @̄þ$…yìþ B§éÄ¶ý$ Ð@þÅÄ¶ý*Ë Rê™é Ð@þ$ÇÄ¶ý¬ BíÜ¢ 
Aç³šË ç³sîýtË$ ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ. 

 Dr Ð@þçÜ*â¶ý$å Ææÿ*|| ^ðþÍÏ…ç³#Ë$ Ææÿ*|| 
 1-1-2017  31-12-2017 

 To »êÅ…Mæü$ÌZ °ËÓ  15,300 By i™éË$  11,000 

 31-12-2017  By õÜtçÙ @̄þÈ  2,700 

 To è̂þ…§éË$   12,500 By Ð@þ$ÆæÿÐ@þ$Ã™èþ$¢Ë$  3,200 

 To ÑÆ>âêË$  7,900 By BïœçÜ$ QÆæÿ$aË$   4,100 

 To ÌêMæüÆŠÿÞ A§ðþª  3,800 By Ä¶ý$…{™éË$   14,000 

 To ´ë™èþ çœÈ²^èþÆæÿ$ AÐ@þ$ÃMæü…  6,200 By ò³r$tºyæþ$Ë$   8,000 

 To ÐéÆæÿçÜ™éÓË$  10,000 By ™óþÍa @̄þ °ËÓ  17,000 

 To {ç³ÐóþÔ¶ý Ææÿ$çÜ$Ð@þ¬ 4,300 

   60,000  60,000 

  çÜÆæÿ$ª»êr$Ï :- 
  a) 2017 çÜ…Ð@þ™èþÞÆ>°Mìü C…M> Æ>Ð@þËíÜ @̄þ ^èþ…§éË$ Ææÿ*|| 1,500 
   Ð@þ$ÇÄ¶ý¬ Ð@þ¬…§æþ$V> Ð@þçÜ*ËÆÿ¬ @̄þ ^èþ…§éË$ MæüÍíÜ E @̄þ²Ñ Ææÿ*|| 800 
  b) ^ðþÍÏ…^èþÐ@þËíÜ @̄þ i™éË$ Ææÿ*|| 3,000 
  c) Ä¶ý$…{™èþ… Oò³ ™èþÆæÿ$Væü$§æþË Ææÿ*|| 1,000 

  d) ò³r$tºyæþ$ËOò³ Æ>Ð@þËíÜ @̄þ Ð@þyîþz Ææÿ* 500 MæüË§æþ$. 

   

Q5) Trial balance of Suraj as on 31/3/2015. 

  Dr.   Rs. Cr Rs. 

 1/4/14 stock   Sales   

  Dept. A 7,000 Dept. A 26,000 

  Dept. B 5,000 Dept. B 13,000 

 Purchases  

  Dept. A  10,000 

  Dept. B 8,000 

 Sales Returns  

  Dept. A 400 

  Dept. B 600 

  Rent, Taxes 1,500 

  General Expenses 1,200 



  Salaries  1,500 

  Carriage on  purchases 600 

 Wages 

  Dept. A 2,000 

  Dept. B 1,200 

    39,000  39,000 

 Stock on 31/3/2015. A - 3,000, B – 6,000. The space occupied by the two departments is 

equal; Expenses divided in the ratio of 2 : 1 between the departments. Prepare 

departmental accounts for the year ending 31/3/2015. 

  

  Dr.   Ææÿ*|| Cr Ææÿ*|| 
 1/4/14 çÜÆæÿ$Mæü$   AÐ@þ$ÃM>Ë$ :   
  A Ñ¿êVæü… 7,000 A Ñ¿êVæü… 26,000 
  B Ñ¿êVæü… 5,000 B Ñ¿êVæü… 13,000 
  Mö @̄þ$Vøâ¶ý$å  
  A Ñ¿êVæü… 10,000 
  B Ñ¿êVæü… 8,000 
 AÐ@þ$ÃM>Ë Ðéç³çÜ$  
  A Ñ¿êVæü… 400 
  B Ñ¿êVæü… 600 
 A§ðþª, ç³ @̄þ$²Ë$  1,500 
 Ýë«§éÆæÿ×ý QÆæÿ$aË$  1,200 
 i™éË$   1,500 
 Mö @̄þ$VøË$ ÆæÿÐé×ê  600 
 Ðóþ™èþ¯éË$ : 
  A Ñ¿êVæü… 2,000 
  B Ñ¿êVæü… 1,200 
    39,000  39,000 
 31-&3&2015 çÜÆæÿ$Mæü$ A & 3,000; & B & 6,000; 31.3.2015 ™ø A…™èþÐ@þ$Äôý$Å çÜ…||Mìü Ñ¿êXMæü–™èþ Ð@þÆæÿ¢Mæüç³# 

Rê™é @̄þ$ ™èþÄ¶ý*Ææÿ$ ó̂þÄ¶ý$…yìþ. Æðÿ…yæþ$ Ñ¿êV>Ë$ B“MæüÑ$…_ @̄þ çÜ¦Ë… JMóü Ñ«§æþ…V> E…¨. ç³Æø„æü QÆæÿ$aË @̄þ$ Æðÿ…yæþ$ 
Ñ¿êV>Ë Ð@þ$«§æþÅ 2 : 1 °çÙµ†¢ÌZ ç³…í³×îý ^óþÄ¶ý*Í. 

Q6) Sunrise Company Ltd. issued 1,00,000 shares of Rs. 100 each at par payble as. 

 On application Rs. 30, on allotment Rs. 25, On first call Rs. 25, On second and Final call 

Rs. 20 

 Mr. Sanjay was allotted 20,000 shares. but he failed to pay second and final call money. 

The company directors decided to forfeit those shares. Pass         Journal entries in the 

books of the Company. 



 çÜ Œ̄þOÆðÿgŒý Mæü…ò³± ÍÑ$sñýyŠþ 1,00000 ÐésêË @̄þ$ JMöPMæüPsìý Ææÿ*|| 100 ^öç³š @̄þ gêÈ ^óþíÜ¯éÆæÿ$. ð̂þÍÏ…ç³#Ë$ “Mìü…¨ 
Ñ«§æþ…V> MæüË§æþ$. 

 «§æþÆæÿRêçÜ$¢ Ò$§æþ Ææÿ*|| 30, MóüsêÆÿ¬…ç³# Ò$§æþ Ææÿ*|| 25, Ððþ¬§æþsìý í³Ë$ç³# Ñ*§æþ Ææÿ*. 25, Æðÿ…yæþÐ@þ Ð@þ$ÇÄ¶ý¬ ™èþ$¨ 
í³Ë$ç³# Ò$§æþ Ææÿ*|| 20 çÜ…fÄŒý$ A¯óþ Ð@þÅMìü¢Mìü 20,000 ÐésêË$ MóüsêÆÿ¬…ç³# ^óþÄ¶ý$yæþ… fÇW @̄þ¨. M>° A™èþyæþ$ 
Æðÿ…yæþÐ@þ Ð@þ$ÇÄ¶ý¬ ™èþ$¨ í³Ë$ç³# Ý÷Ð@þ¬Ã B ÐésêË Oò³ ^ðþÍÏ…^èþÌôý§æþ$. A…§æþ$ ^óþ™èþ OyðþÆðÿMæütÆæÿ$Ï B ÐésêË @̄þ$ fçç³#¢ 
^óþÄ¶ý$§æþË^èþ$Mæü$¯é²Ææÿ$. Mæü…ò³± ç³#çÜ¢M>ËÌZ AÐ@þçÜÆæÿOÐðþ$ @̄þ _sêt ç³§æþ$ªË$ {ÐéÄ¶ý$…yìþ.  

 
Q7) From the following information prepare Hyderabad Branch account in the books of Delhi 

head office for the year ending 31 - 12 - 2015. 

 Particulars   

 Opening stock (at cost) 1,50,000 

 Opening debtors  15,000 

 Opening petty cash 500 

 Opening furniture  12,000 

 Opening creditors  8,000 

 Cash received by the branch from the customers7,50,000 

 Discount allowed to customers 750 

 Bad debts written off  2,500 

 Credit sales  9,00,000 

 Cash sales  1,00,000 

 Goods sent to the branch (at cost) 4,50,000 

 Goods returned to H.O. 15,000 

 Goods returned by customers to branch  3,500 

 Petty expenses paid by branch  2,500 

 Cheques sent to Branch for following Expenses :- 

 Salaries  35,000 

 Rent & insurance 15,000 

 Petty cash  3,500 

 Goods are sold to customers at cost plus 20% 

 ¨Væü$Ð@þ C_a¯@þ çÜÐ@þ*^éÆæÿ… B«§éÆæÿ…V> ÉìþÎÏ {ç³«§é @̄þ M>Æ>ÅËÄ¶ý$… ç³#çÜ¢M>ËÌZ Oòßý§æþÆ>»ê§Šþ {»ê…_ Rê™é 31-
&12&2015 ™óþ¨™ø A…™èþÐ@þ$Äôý$Å çÜ…Ð@þ™èþÞÆ>°Mìü ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ. 

 ÑÐ@þÆ>Ë$  
 {´ëÆæÿ…¿¶ý çÜÆæÿ$Mæü$ °ËÓ (QÈ§æþ$ Oò³)  1,50,000 
 {´ëÆæÿ…¿¶ý º¬×ý“VæüçÜ$¢Ë$  15,000 
 {´ëÆæÿ…¿¶ý _ËÏÆæÿ @̄þVæü§æþ$  500 
 {´ëÆæÿ…¿¶ý çœÈ² è̂þÆæÿ$  12,000 
 {´ëÆæÿ…¿¶ý º¬×ý§é™èþË$   8,000 
 {»ê…`Mìü Rê™é§éÆæÿ$Ë @̄þ$…yìþ Ð@þ_a @̄þ @̄þVæü§æþ$  7,50,000 
 Rê™é§éÆæÿ$ËMæü$ C_a @̄þ yìþÝûP…sŒý  750 



 Ææÿ§æþ$ª ^óþíÜ @̄þ Æ>° »êMîüË$  2,500 
 AÆæÿ$Ð@þ# AÐ@þ$ÃM>Ë$  9,00,000 
 @̄þVæü§æþ$ Oò³ AÐ@þ$ÃM>Ë$  1,00,000 
 {»ê…^ŒþMìü ç³…í³ @̄þ çÜÆæÿ$Mæü$  («§æþÆæÿ Oò³) 4,50,000 
 H.O. Mìü Ðéç³çÜ$ ^óþíÜ @̄þ çÜÆæÿ$Mæü$  15,000 
 Rê™é§éÆæÿ$Ë @̄þ$…yìþ {»ê…^ŒþMìü Ð@þ_a @̄þ çÜÆæÿ$Mæü$ Ðéç³çÜ$  3,500 
 {»ê…^Œþ ^ðþÍÏ…_ @̄þ QÆæÿ$aË$  2,500 
 QÆæÿ$aË MøçÜ… {»ê…^ŒþMìü ç³…í³ @̄þ ^ðþMæü$PË$ :- 
 i™éË$  35,000 
 A§ðþª Ð@þ$ÇÄ¶ý¬ ÁÐ@þ*  15,000 
 _ËÏÆæÿ @̄þVæü§æþ$  3,500 
 Rê™é§éÆæÿ$ËMæü$ AçÜË$ «§æþÆæÿ Mæü$ 20% MæüÍí³ çÜÆæÿ$Mæü$ AÐ@þ$ÃM>Ë$ ^óþòÜ @̄þ$. 
Q8) Mahendra company Limited issued 1,50,000 shares of Rs. 10 each at par payable as.  

 On application Rs. 2.50, on allotment Rs. 2.50, on first call 43 on second and final call Rs. 

2.  

 2,00,000 applications were received and excess of application money adjusted to 

allotment. All dues were received. Prepare Journal entries and balance sheet in the books 

of the company. 

 Ð@þ$õßý…{§æþ Mæü…ò³± ÍÑ$sñýyŠþ 1,50,000 ÐésêË$ Ðésê JMìüP…sìýMìü Ææÿ*|| 10 ^öç³š @̄þ gêÈ ^óþíÜ¯éÆæÿ$. ^ðþÍÏ…ç³#Ë$ 
“Mìü…¨ Ñ«§æþ…V> MæüËÐ@þ#.  

 «§æþÆæÿ RêçÜ$¢ Ò$§æþ Ææÿ*. 2.50, MóüsêÆÿ¬…ç³# Ò$§æþ Ææÿ*. 2.50, Ððþ¬§æþsìý í³Ë$ç³# Ò$§æþ Ææÿ*||  3 Æðÿ…yæþÐ@þ Ð@þ$ÇÄ¶ý¬ 
™èþ$¨ í³Ë$ç³# Ò$§æþ Ææÿ*|| 2. 

 2,00,000 «§æþÆæÿRêçÜ$¢Ë$ Ð@þ_a¯éÆÿ¬ Ð@þ$ÇÄ¶ý¬ A«̈ Mæü…V> Ð@þ_a @̄þ «§æþÆæÿRêçÜ$¢Ë Ò$§æþ Ð@þ_a¯@þ @̄þVæü§æþ$ @̄þ$ 
MóüsêÆÿ¬…ç³#ËMæü$ çÜÆæÿ$ª»êr$ ^óþÄ¶ý$yæþ… fÇW…¨. A°² Ððþ¬™é¢Ë$ Ð@þçÜ*Ë$ AÆÿ¬ @̄þÑ. Mæü…ò³± ç³#çÜ¢M>ËÌZ _sêt 
ç³§æþ$ªË$ {ÐéíÜ, BíÜ¢ Aç³šË ç³sîýt° ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ.   
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DBC23 

ASSIGNMENT-1 

B.Com. DEGREE EXAMINATION, JUNE/JULY - 2020 

Second Year 

Quantitative Techniques - II 

MAXIMUM MARKS: 30  

Answer ALL Questions 

 
 

Q1) What are the uses of time series? 

 M>Ë“Ôóý×ý$Ë Ð@þËÏ Eç³Äñý*V>ÌôýÑ? 
Q2) How to measure the trend? 

 {ç³Ð@þ–†¢° MöÍ^óþ Ñ«§é @̄þ… ™ðþËµ…yìþ? 
Q3) What are the limitations of index number? 

 çÜ* ç̀Ü…QÅË ç³ÇÑ$™èþ$Ë @̄þ$ ™ðþËµ…yìþ. 
Q4) Explain various price and quantity index numbers. 

 ÑÑ«§æþ «§æþÆæÿË Ð@þ$ÇÄ¶ý¬ ç³ÇÐ@þ*×ý çÜ* ç̀Ü…QÅË @̄þ$ ÑÐ@þÇ… è̂þ…yìþ. 
Q5) State and prove additional theorem of probability. 

 çÜ…¿êÐ@þÅ™é çÜ…MæüË @̄þ íÜ§é®…™é°² {ç³Ð@þ_…_ °Ææÿ*í³… è̂þ…yìþ. 
Q6) What are properties of normal distribution? 

 ÝëÐ@þ* @̄þÅ Ñ¿êf @̄þ… Äñý¬MæüP «§æþÆ>ÃË @̄þ$ ÑÐ@þÇ…^èþ…yìþ? 
Q7) Methods of Integration. 

 ççÜÐ@þ*MæüË @̄þ ç³§æþ®™èþ$Ë$ 
Q8) Explain linear programming problem in brief. 

 OÌñý°Ä¶ý$ÆŠÿ {´ù“V>Ñ$…VŠü {´ëºÏÐŒþ$ Væü$Ç…_ ÑÐ@þÇ…^èþ…yìþ. 
Q9) Compute various quantity index numbers for the year 2010 with 2005 as the base year. 

 Commodity 2005 2010 

  price quantity price  quantity 

 A 4 50 10  40 

 B 3 10 9  12 

 C 2 5 4  3 

 D 5 10 6  12 

 2005 B«§éÆæÿ…V> 2010 çÜ…Ð@þ™èþÞÆæÿ…ÌZ° ÑÑ«§æþ ç³ÇÐ@þ*×ý çÜ*`Ë @̄þ$ Væü×ìý…^èþ…yìþ. 
 Ð@þçÜ$¢Ð@þ# 2005 2010 

  ç«§æþÆæÿ çç³ÇÐ@þ*×ý… ç«§æþÆæÿ  çç³ÇÐ@þ*×ý… 
 A 4 50 10  40 

 B 3 10 9  12 

 C 2 5 4  3 

 D 5 10 6  12 



 

Q10) Find five year moving averages to the following data. 

 Year  20012002200320042005 2006200720082009 2010 

 Agricultural 25 28 32 36 40 25 29 42 54 50  production     

 (in tonnes)  

 ¨Væü$Ð@þ §æþ™é¢…Ô>°Mìü I§æþ$ çÜ…Ð@þ™èþÞÆ>Ë ^èþÇ™èþ Ð@þ*«§æþÅÐ@þ*Ë @̄þ$ Væü×ìý…^èþ…yìþ.  
 çÜ…||  200120022003 200420052006 20072008 2009 2010 

 Ð@þÅÐ@þÝëÄ¶ý$ 25 28 32 36 40 25 29 42 54 50  E™èþµ™èþ$¢Ë$     
 (r @̄þ$²ËÌZ) 
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Q1) Differentiate the following : 

  “Mìü…¨ ÐésìýMìü AÐ@þMæüË @̄þ… ^óþÄ¶ý$…yìþ. 

  
 

 

  



Q2) Solve the following LPP by using simplex method. 

    
  

 

 

 D “Mìü…¨ LPP çÜÐ@þ$çÜÅ @̄þ$ íÜ…ò³ÏMŠüÞ ç³§æþ®†ÌZ Ýë«̈ …^èþ…yìþ.  
 

  
   

 

 
 

Q3) Justify Fisher index number is ideal to the following data. 

 Commodity Price Quantity 

  2010 2015 2010  2015 

 D 17 19 40  42 

 E 14 17 30  35 

 F 19 21 10  17 

 G 13 16 20  14 

 D “Mìü…¨ §æþ™é¢…Ô>°Mìü íœçÙÆŠÿ çÜ*` B§æþÆæÿØ çÜ*` A° °Ææÿ*í³…^èþ…yìþ. 
 Ð@þçÜ$¢Ð@þ# «§æþÆæÿ ç³ÇÐ@þ*×ý… 
  2010 2015 2010  2015 

 D 17 19 40  42 

 E 14 17 30  35 

 F 19 21 10  17 

 G 13 16 20  14 
 

Q4) Compute trend values by using principle of least squares to the following data. 

 Year  1985 1986 1987 1988 1989 1990 1991 

 Profit  38 40 49 45 46 47 52   (in Lakhs) 



 “Mìü…¨ §æþ™é¢…Ô>°Mìü Mæü°çÙx Ð@þÆ>YË ç³§æþ®†ÌZ {ç³Ð@þ–†¢ ÑË$Ð@þË @̄þ$ Væü×ìý…^èþ…yìþ. 
 çÜ…||  1985 1986 1987 1988 1989 1990 1991 

 Ìê¿êË$ 38 40 49 45 46 47 52   (Ë„æüËÌZ) 
Q5) If two dice are thrown, find the probability of getting sum is 10 or 11. 

 Æðÿ…yæþ$ ´ë_MæüË @̄þ$ GVæü$ÆæÿÐóþíÜ @̄þç³#yæþ$ Ðésìý Ð@þ¬RêËOò³ Ððþ¬™èþ¢… 10 Ìôý§é 11 Æ>Ð@þyé°Mìü çÜ…¿êÐ@þÅ™èþ @̄þ$ 
Væü×ìý…^èþ…yìþ. 

 

Q6) Evaluate the following integrals 

   

 Oò³±Ä¶ý$ºyìþ @̄þ ÐésìýMìü çÜÐ@þ*MæüË¯é°² ÌñýMìüP…^èþ…yìþ. 
 

Q7) a) If three coins are tossed, find probability that getting all three heads. 

 b) A bag contains 3 red, 7 green balls. Find the    probability that two balls are drawn 

which are red and green. 

 a) Ð@þÊyæþ$ ¯é×êË @̄þ$ GVæü$Ææÿ ÐóþíÜ @̄þç³#yæþ$ A±² »ŸÐ@þ$ÃË$ Æ>Ð@þyé°Mìü çÜ…¿êÐ@þÅ™èþ G…™èþ? 
 b) JMæü çÜ…_ÌZ 3 GÆæÿ$Ð@þ#, 7 BMæü$ç³^èþa º…™èþ$Ë$ MæüËÐ@þ#. A…§æþ$ÌZ @̄þ$…yìþ Æðÿ…yæþ$  º…™èþ$Ë @̄þ$ ¡íÜ @̄þç³#yæþ$ 

AÑ JMæüsìý GÆæÿ$ç³# Ð@þ$ÇÄñý¬Mæüsìý BMæü$ç³^èþa º…™èþ$Ë$ Æ>Ð@þyé°Mìü çÜ…¿êÐ@þÅ™èþ G…™èþ? 
Q8) Solve the following LPP by using graphical method. 

 

   
   

   

    

  
  



D “Mìü…¨ LPP çÜÐ@þ$çÜÅ @̄þ$ “V>íœMæüÌŒý ç³§æþ®†ÌZ Ýë«̈ …^èþ…yìþ. 
 

    
  

   

  

���� 
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Q1) What is hardware? Give examples. 

 àÆŠÿzÐóþÆŠÿ A @̄þV> ó̄þÑ$? E§éçßýÆæÿ×ýÍÐ@þ¬Ã. 

Q2) Explain about CD - ROM. 

 CD - ROM Væü*Ça ÑÐ@þÇ…ç³#Ð@þ¬. 

Q3) Write the history of computers. 

 Mæü…ç³NÅrÆŠÿ Äñý¬MæüP ^èþÇ{™èþ {ÐéÄ¶ý¬Ð@þ¬. 

 

Q4) Explain DOS directory structure. 

 DOS OyðþÆðÿMæütÈ °Æ>Ã×ý… Væü*Ça ÑÐ@þÇ…ç³#Ð@þ¬. 
 
Q5) Explain different wild card characters. 

 ÑÑ«§æþ OÐðþÌŒýz M>ÆŠÿz M>ÅÆðÿMæütÆŠÿË Væü*Ça ÑÐ@þÇ…ç³#Ð@þ¬. 

 

Q6) Write about word star package. 

 Ð@þÆŠÿzÝëtÆŠÿ õ³Móüi Væü*Ça {ÐéÄ¶ý¬Ð@þ¬. 
 
Q7) What is assembly code? Explain. 

 AòÜ…½Ï MøyŠþ A @̄þV> ó̄þÑ$? ÑÐ@þÇ…ç³#Ð@þ¬. 
 

Q8) What is variable? How to declare variables? 

 ÐóþÇÄ¶ý$ºÌŒý A @̄þV> ó̄þÑ$? ÐóþÇÄ¶ý$º$ÌŒýÞ° GÌê ™ðþÍÄ¶ý$gôýÝë¢Ææÿ$? 
 
Q9) Write the difference between primary memory and secondary memory. 

 [Oò³Ð@þ$È Ððþ$Ððþ¬È Ð@þ$ÇÄ¶ý¬ òÜMæü…yæþÈ Ððþ$Ððþ¬ÈË Ð@þ$«§æþÅ ¿ôý§é°² {ÐéÄ¶ý¬Ð@þ¬. 

 

Q10) Write the evolution of computing machine. 

 Mæü…ç³NÅsìý…VŠü Ððþ$íÙ Œ̄þ Äñý¬MæüP AÀÐ@þ–¨ª Væü*Ça {ÐéÄ¶ý¬Ð@þ¬. 
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Q1) Explain file management in DOS. 

 DOS ÌZ OòœÌŒý Ðóþ$ ó̄þgŒýÐðþ$…sŒý Væü*Ça ÑÐ@þÇ…ç³#Ð@þ¬.  
 

Q2) What is algorithm? What are its advantages? 

 AÌêYÇ£æþÐŒþ$ A @̄þV> ó̄þÑ$? AÌêYÇ£æþÐŒþ$ Äñý¬MæüP Eç³Äñý*V>Ë$ HÑ$? 
 

Q3) Explain about different input and output devices. 

 ÑÑ«§æþ C Œ̄þç³#sŒý Ð@þ$ÇÄ¶ý¬ AÐ@þ#sŒýç³#sŒý ç³ÇMæüÆ>Ë Væü*Ça ÑÐ@þÇ…ç³#Ð@þ¬. 
 
Q4) Explain the Generations of computers. 

 Mæü…ç³NÅrÆŠÿ Äñý¬MæüP ™èþÆ>Ë @̄þ$ Væü*Ça ÑÐ@þÇ…ç³#Ð@þ¬. 
 

Q5) Explain DOS internal commands. 

 DOS C…rÆæÿ²ÌŒý MæüÐ@þ*…yŠþÞ Væü*Ça ÑÐ@þÇ…ç³#Ð@þ¬. 
 

Q6) What are the advantages of using word processing? 

 Ð@þÆŠÿz {´ùòÜíÜ…VŠü Äñý¬MæüP Eç³Äñý*V>Ë$ HÑ$? 
 

Q7) How to develop a computer program? Explain. 

 Mæü…ç³NÅrÆŠÿ {´ù“V>…° GÌê AÀÐ@þ–¨ª ^óþÝë¢Ææÿ$? ÑÐ@þÇ…^èþ$Ð@þ¬. 

 

Q8) Write about basic branching and looping statements. 

 »ôýíÜMŠü {»ê…_…VŠü Ð@þ$ÇÄ¶ý¬ Ë*í³…VŠü õÜtsŒýÐðþ$…sŒýÞ Væü*Ça {ÐéÄ¶ý¬Ð@þ¬. 

 


